GB 50019—2003 2004
4 1 3.1.9 4.1.8 4.3.4 4.3.11 4.4.11 4.5.2 454 459
4.7.44.8.17 49.1 5.1.10 5.1.12 5.3.3 534 1 2 5.3.5 5.3.6 5.3.12 5.3.14
54.65.6.105.7.55.7.8 5.8.55.8.156.2.1 6.2.15 6.6.3 6.6.8 7.1.57.1.7 7.3.4
7.8.3 8.2.9 8.4.8
GBJ 19—87 2001 26

1893 -



2

2.0.1 PMV  predicted mean vote
PMV
PMV
+3~-37
2.0.2 PPD  predicted percentage of dissatisfied
PPD
“ +3 +2
-3
2.0.3 WBGT wet — bulb black globe temperature index

WBGT =0.71,,+0.31,
1894 -

PPD

2.03-1



WBGT =0.7t,,+0.2t,+ 0.4z, 2.0.3-2

WBGT— C

by C

ty— C

b C
2.0.4 occupied zone
2.0.5 displacement ventilation
2.0.6 variable refrigerant volume split air condi-
tioning system
2.0.7 ADPI  air diffusion performance index
2.0.8 air — source heat pump

/ /
2.0.9 waler — source heat pump
/ /

2.0.10 ground — source heat pump
2.0.11 water — loop heat pump air conditioning system

/ /
2.0.12 cold air distribution system
2.0.13 zoning two — pipe water system

1895 -



3.1
3.1.1
1 16 ~ 24°C
2
18 ~21C
16 ~ 18°C
14 ~16°C
12 ~ 14°C
1 GBZ 1
2 50 ~ 100n’ 10°C 7°C
5C
3
25°C
25C
18C
18C
12°C
3.1.2
1 0.3m/s
2 23W/m’ 0.3m/s
23W/m’ 0.5m/s
3.1.3
1 3.1.3
3.1.3
C 18 ~24 22 ~28
m/s <0.2 <0.3
% 30 ~ 60 40 ~ 65
2
0.3m/s 0.2 ~0.5m/s
30°C 0.5m/s

1896 -



3.1.4

GB/T 18049

PPD -1<PMV< +1 PPD<27%

GB/T 4200

3.1.5

3.1.5

PMV

WBGT

3.1.5

PMV

PPD

<22 23

24

25

26

27

28

29~32

32

32~35

3.1.6
30°C
3.1.7

3.1.8

W

2.2
2.3
2.4

w W

w

2.5
.2.6
2.7

W W

w

2.8
.2.9

W

5.5.7

3.2

30m’/h

14

14

50h

50h

26 ~

5.5.5

6h

1897 -



3.2.10

th = ty, + PAL, 3.2.10-1
ton C
fp C 3.2.9
B— 3.2.10
At
At =t 3.2.10-2
Ly C 3.2.7
3.2.10-1
3.2.10
1 2 3 4 5 6
8 -0.35 -0.38 -0.42 -0.45 -0.47 -0.41
7 8 9 10 11 12
8 -0.28 -0.12 0.03 0.16 0.29 0.40
13 14 15 16 17 18
B 0.48 0.52 0.51 0.43 0.39 0.28
19 20 21 22 23 24
8 0.14 0.0 -0.10 -0.17 -0.23 -0.26
3.2.11
3.2.7
3.2.10
3.2.12 3
3
3
3.2.13 3
3
3.2.14 3
3
3.2.15 3
3.2.16

1898 -



5¢C

3.2.17 30 30
10 10
3.2.18
3.3
3.3.1 7 21
3.3.2
3.3.3
B
3.3.4 A B C
3.3.4
3.3.4
hPa
650 700 750 800 850 900 950 1000
1 1 1 1 1 1 1 1
1 1 1 1 1 2 2 2
1 2 2 2 2 3 3 3
2 2 3 3 3 4 4 4
3 3 4 4 4 4 5 5
4 4 4 5 5 5 6 6
4
4.1
4.1.1
4.1.2 5C 90
4.1.3
1 5C 60 ~ 89

1899 -



8C 75
4.1.4 3.2
4.1.5
0°C

5°C
4.1.6

100m?
4.1.7
4.1.8

a t,—t,
Ro min = Alyan 4.1.8-1
o min — Aty n s 107

Rn min~__ Hl2 C/W

—— C 3.1.1 4.2.4

— C 4.1.9

a 4.1.8-1

At— C

4.1.8-2

ay W/ m* C 4.1.8-3

R— m> °C/W 4.1.8-3

1

2 4.1.8-14.1.8-2 5%

60 %
4 10C
GB 50176
JGJ 26

1900 -



4.1.8-1

1.00

0.90

0.60

0.50

0.75

0.60

0.40

0.70

0.40

0.30

0.70

4.1.8-2

Aty

6.0

4.0

6.0

4.5

7.0

5.5

10.0

8.0

8.0

7.0

Iy = 1

7.0

0.8 t,- 1

0.9 t,- 1

In— 1)

Iy— 1)

23W/m’

50%

12.0

12.0

|

4.1.8-14.1.8-2

4.1.8-4

Aty

2.5C

1901 -



4.1.8-3 a, R,
a, W/ m* C R, m* C/W
ThsO.B 8.7 0.115
Tf‘L>O.3 7.6 0.132
h— m s m
4.1.8-4
C
<12 13~24 >24
%
<60 <50 <40
61 ~75 51 ~60 41 ~ 50
>75 61 ~75 51 ~60
— >75 > 60
4.1.9 Ly
D 4.1.9
4.1.9 C
D Ly C
I >60 tw: [wn
il 4.1~6.0 ty=0.6t,,+0.4t, .,
[[[ 1.6~4.0 t\\:O'3ZWn+O'7tp min
I\ <l1.5 t,=1p min
an [p min QC
4.1.10
R(,=l+Rj+* 4.1.10-1
al‘l
R,=R,+R;+ R, 4.1.10-2
R—— m> C/W
an R—— 4.1.8-14.1.8-2
ay—— W/ m* C 4.1.10
R,— m* C/W 4.1.10
Ri— m
C/W



4.1.10 ay R,

a, W/ m* C R, m* C/W
23 0.04
17 0.06
12 0.08
6 0.17
4.1.11 4.1.11
4.1.11
C
<33 -
=33 -
<36 —
=36 —
<31 —
=31 —
23W/m’ _
50%
1
2
3
4
4.1.12
GB 50176
4.1.13
1
2
1
2 4.4 4.5
4.1.14

1903 -



4.2

4.2.1

O 0 N N Lt AW N~

QZQFK In=tyn

A — C 3.2.1

4.2.4 3.1.1

ta=ty+ Aty H -2

C
C/m

gt 1,

lnp - 2
1904 -

4.2.3

4.2.4-1

4.2.4-2



o™ C

tq ty— 4.2.4-1
23W/m’
4.2.7
4.2.5 5°C
5C 10%
4.2.6
1
0~10%
-5%
-10% ~ - 15%
-15% ~ -30%
1
2 35% -10% ~0
2
5% ~ 10%
3
n
65% x n
80% x n
60% x n
500%
1
2
4.2.7 4m
1m 2% 15%
4.2.8
D
4.3
4.3.1
1
2

1905 -



N e))

4.3.

wLow N = N

4.3.

4.3.
4.3.

[, BN

4.3.6

4.3.7

4.3.

4.3.
4.3.10

O o

4.3.11

4.3.12

4.4.1

4.4.2
1906 -

20
25

50m

4.4

4.4.2



4.4.2 C
24 ~ 26 28
28 ~ 30 32
35 ~40 42
2.5~3.0m 28 ~ 30 —
3.1~4.0m 33~36 —
Im 35 —
1m 3.5m 45 —
4.4.3
60°C 10°C
4.4.4
4.2 0.9~0.95
2C
4.4.4
4.4.4
0.55 0.40 0.25
1.30 1.35 1.50
4.4.5
4.4.6
4.4.7 50mm
100mm
4.4.8
0.25m/s
30kPa
4.4.9 0.8MPa

1907 -



4.4.10
4.4.11
4.4.12 3 ~30m
4.4.13 40 ~ 140°C
4.4.14
4.4.15 4.2
4.5.6 30%
4.4.16
1 4.4.16
4.4.16
° 10 20 30 40
1.022 1.043 1.066 1.088
2
1.18
4.4.17
4.4.17
4.4.17 C
10% 15% 20% 25% 30% 35%
3 73 71 68 64 58 56
4 115 105 91 78 67 60
5 > 147 123 100 83 71 64
6 — 132 104 87 75 69
7 — 137 108 91 80 74
8 — > 141 112 96 86 80
9 — — 117 101 92 87
10 — — 122 107 98 94
m
4.4.18

1908 -



4.4.

4.4.

4.4.

4.5.
4.5.
4.5.

4.5.
4.5.

4.5.

4.5.

4.5.

4.5.

4.5.

4.5.

20

AW N =

[

4m

4.5

0.5

6m
6m

4.4.4
GB 50028
3m
4.2
0.8~0.9
4.4.4
2m
3m
2m
0.5m

1909 -



4.5.12

4.6

4.6.1

5.3.6
4.6.2 0.1~0.3MPa 90°C
GB 50028
GB 50016
4.6.3 2m  2m

5C
4.6.4 1.2~1.3
4.6.5

4.6.6

0.15m/s 5~15m/s
2 3.5m 0.4~0.5m
3 35C 70C

4.6.7

4.6.8
3m 3~18m
18m
1910 -



4.6.9
50°C
4.6.10

4.7.

4.7.
4.7.

W N U AN = =

4.7.4

4.8.1

4.8.5
4.8.6

70C

8m/s 25m/’s

4.7

4.4.2

4.8

6m/s

25%

1911 -



15%
4.8.7

4.8.8

4.8.9

4.8.10
4.8.11

4.8.12

4.8.13

4.8.14

4.8.15

4.8.16
4.8.17

4.8.18

1912 -

0.003

120mm

0.002

20mm

1.5m/s
2m/s
3m/s

30m/s
20m/’s

80m/s

60m/s

10%

GB 50041

0.01



4.8.

4.8.

4.8.

4.8.

4.9.

4.9.

4.9.

4.9.

4.9.

128

20

21

22

AW N =

N A WD = W

0.005

0625m/s

120°C

4.9

4.2

GB1576

al

1913 -



5.1.1

5.1.2

5.1.3

5.1.4
5.1.5
5.1.6
GB 50176
10m 20cm

8m

5.1.7

5.1.8

5.1.9

5.1.10

5.1.11

5.1.12

1914 -

5.1

23W/m’

3.1.9



(O I LY I )

9]
p—
—
(O8]

5.1.14

5.1.15
50045

5.2.1

W

2.5
.2.6

(9]

GBZ 1
3.1.9
GB 50016
5.2
F
60° ~ 90°
45°
1.2m
4m
23W/m’
35W/m’
1m/s

1915 -

GB



5.2.10

5.2.10-1 5.2.10-2 5.2.10
5.2.10
Z/h 0.4 0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.1 2.2 2.3
B-7
T <1.3] 1.4 1.45 1.5 1.65 1.8 2.1 2.5 2.9 3.7 4.6 5.6
Z/h>2.3
R
.-""j_l_
Stk
= =
| T |
=2l . ]
| 1
il -
5.2.10-1
=
- L]z
I 5
i 1
5.2.10-2
5.2.11
50m
0.1~0.3m
5.2.12
5.3
5.3.1

1916 -



AN NS SR

— O N W N = ©

2h

2m 1m

25%

30%

2.4m

3C
1917 -



5.3.10

5.3.11

5.3.12

5.3.13

5.3.14

0.1m

5.3.15

5.3.16

5.3.17

1918 -

6m 6m’/ h m’
2/3
0.75
2m
0.4m
GB 50028

0.5m/s
0.2m/s
1/3
0.75
50%
0.3m



5.4

5.4.1
5.4.2

5.4.3

5.4.4

5.4.5

2 20m
6m

20m

5.4.6

5.5

5.5.1
350W,/m?
5.5.2

5.5.3
40°C 45C
5.5.4
5.5.5

2~3m/s
3~5m/s

1919 -

12

20m



5.5.6
100pm

5.5.7

4 ~6m/s

35C

5.5.7

1400W/m?

3~5m/s

5.5.7

W/m?

m/s

350 ~ 700

20~25

1~2

26 ~31

701 ~ 1400

20~25

26 ~30

1401 ~ 2100

18~22

2~3

25~29

2101 ~ 2800

18~22

3~4

24 ~28

1

5.5.8

5.5.9

0.6m

5.5.10

5.6.1

5.6.2

5.6.3

5.6.4
1920 -

25°C

1h

5.6

2°C

Im

GBZ 1

2C

23W/m’



5.6.5

0.6m/s

2m/s

3m/s
5.6.6

15% ~ 20%
5.6.7 G
5.6.8

5.1.11
5.6.9

~N O L B W

5.6.10

5.6.11
GB 50016
5.6.12

GB 8978
GBZ 1
5.6.13

1921 -



.6.14
.6.15
.6.16
.6.17
.6.18
.6.19

D L L D e D

5.6.20
2.0mg/m’

5.7

5.8.2

2 10% ~

15% ~20%
4 90%
5.7.3

5.7.4

5.7.5

25%
5.7.6

5.7.7

1922 -



.7.8

1.9

J
—_
—_

N B~ W D =

5.8

10
GB 50243

5% ~10%
10% ~ 15%

15%
10%

80mm
100mm
130mm
45°

1923 -



DN W

.8.5
.8.6

5.8.6

m/s

15° ~ 45°

5.8.6

6~14

4~12

2~8

2~6

.8.7

.8.8

.8.9

1924 -

2m

110°C



.8.17

.8.19

.8.20

.8.21

.8.22

.8.23

5.8.24

N AW =

80°C
80°C

150mm
80°C

6.1

5~ 10Pa

50Pa

20%

0.005
0.005

800mm

75kW

1925 -



6.1.4

6.1.5
6.1.5
6.1.5 K W/ m* C
C
+0.1~0.2 +0.5 =>=+1.0
— — 0.8
0.5 0.8 0.9
— 0.8 1.0
0.7 0.9 1.2
1 3C
2 4.1.8
6.1.6 +0.5C
D 6.1.6
6.1.6 D
C
+0.1~0.2 +0.5
— 4
— 3
4 3
6.1.7 6.1.7
6.1.7
=>=+1.0
+0.5
+0.1~0.2 —
1 +0.5C
2 6.1.9 “ ! 23.5° 23.5°
6.1.8
0.80
0.65

1926 -



+1.0C
6.1.9 +1.0C +1.0C
+0.5C
6.1.10 6.1.10

6.1.10

=>=+1.0 7°C

£0.5 3C

+1.0C

7C
6.1.11

6.2

(@)}
\S}
—_—

o))
[\e}
W oo 9N AW = N

@)
[\

6.2.4
1 3.2.10 3.2.10-1
2 6.2.4-1
1927 -



t%=l¢+@l 6.2.4-1
Ay
s C
Lsh C 3.2.10
p—
J— w/
ay W/ m* C
3 +1.0C
6.2.4-2
tap twp+%{v‘9 6.2.4-2
L C
Lyp C 3.2.9
J— W/m?
0 ay—— 6.2.4-1
4
6.2.4-3
Lis = by + Aty 6.2.4-3
te—— C
by 6.2.4-2
Aty —— C
6.2.4
6.2.4 C
W/m’ Aty
0~2
<23 3
23~ 116 5
6.2.5 6.2.5
CL=KF t,-1t, 6.2.5
CL— W
K— W/ m* C
F— m’
twi <
6.2.4 b

1928 -



6.2.6 +1.0C
6.2.6
CL=KF t,-1,
CL K F t,— 6.2.5
by 6.2.4-2
6.2.7 6.2.7
CL=KF ty,-1t,
CL— W
oyl C
3.2.10 Lo
K F t,— 6.2.5
6.2.8 3C
CL=KF t,-t,
CL— %
K F 1,— 6.2.5
[ R 6.2.4-3
6.2.9
2m
6.2.10
6.2.11
6.2.10
6.2.12
6.2.13
1
2
3
4

6.2.8

6.2.6

6.2.7

6.2.8

1929 -



6.2.14

6.2.15

6.2.16
3.2.5

6.3.

—

6.3.

S I NV S SO SUR O S )

6.3.

W =

6.3.

6.3.5

6.3.6

6.3.7
1930 -

6.3



3 6.5.2

6.3.10

6.3.11

6.3.12

4~10°C 7°C

3 1°C

4

1.5~2.3n/s 9~13C
5

7.9.4
7 6.5.2

1931 -



6.3.15

6.3.16
5.3.4
6.3.17
6.1.3

6.3.18

6.3.19 9.1.5

6.4

6.4.1

1 5~9%C 7°C

2 5~10C 5C

3 40~ 65°C 60°C

4 4.2~15C 10°C
6.4.2

5% ~10%

6.4.3

6.4.4

6.4.5 2 2

8.5.6

6.4.6

6.4.7

1932 -



6.4.8

6.4.9

6.4.10
6.4.11

6.4.12

6.4.13

6.4.14

6.4.15

6.4.16
6.4.17

6.4.18

15%

5kPa

0.003

5% ~10%

0.01

1%

30 ~ 50kPa

4.8.17

4.8.18

1933 -



6.5.1

6.5.2

6.5.

6.5.

N o= P W = W

6.5.

6.5.

HO\L»J[\)HL"

90 %

6.5.7

1934 -

6.5

ADPI

+1.0%C

1~2%C

10° ~ 20°

0.2m
3~5m/s

18m



Sm 10°C
S5m 15°C 6.5.7
6.5.7
C C
>=+1.0 <I15
+1.0 6~9
+0.5 3~6
+0.1~0.2 2~3
6.5.8
1 5
2 6.5.8
6.5.8
C
+1.0 5
+0.5 —
+0.1~0.2 12
6.5.9
2~5m/s 4 ~10m/s
6.5.10
1
2
6.5.11 6.5.11
6.5.11 m/s
m/s
4.0
<3.0
1.5
6.6
6.6.1

1935 -



6.6.2

6.6.5

3.5kg/ m* s 3.0kg/ m* s

6.6.6 3.5C
0°C

6.6.7 3.5C

5~10%C 0.6~1.5m/s
6.6.8
6.6.9 3~5%C

6.6.10
6.6.11
£1.0C
6.6.12
3.1.8

6.6.13

7.1

7.1.1
1936 -



7.1.

7.1.

7.1.

7.1.

7.1.

7.1.

oW N =

AT, T O SC R O RN

@)}

6.2.15

1937 -



7.2

7.2.1 7.2.1
7.2.1
kW
<116
116 ~ 700
700 ~ 1054
1054 ~ 1758
=1758
7°C 30°C
7.2.2 COP
cop
7.2.3
/
2 GB 50072
7.2.4
1
2
3 50m Sm
4
7.3
7.3.1
1 COoP
2 20%
3
GB 3096—82
4
7.3.2

1938 -



Q= qKK; 7.3.2
0— kW
qg— 7°C 6°C

0.9 0.8

7.3.3

7.3.4

7.3.5

7.3.6
1 15~35<C

7.4

7.4.1

7.4.1
7.4.1

0.25 0.4 0.6 0.8MPa

> 140°C

1939 -



0.1MPa

85 ~ 140°C

7.4.2
7.4.3
GB/T 18431 GB/T

18362
7.4.4

50%
7.4.5

7.4.6 7.4.3

7.4.7

7.5

7.5.1

7.5.2
1940 -



7.5.3
7.5.4

NN AW

7.5.

7.5.6
25% 1.2~1.3
1.07~1.08
7.5.7
1
2

7.5.8
7.5.9

7.5.10 H
7.5.11 15%

7.5.12

7.5.13
1941 -



7~12°C
5~15C

7.5.14

7.5.15

2 100m>

7.6

7.6.1
7.6.2
7.6.3

1.1~1.2
7.6.4

7.7

7.7.1

7.7.2

1 33C

15.5C 24C

1942 -



.7.10

711

0C

7.8

5C

GB 50050

1943 -



[, B N

N
o

N
o0
E N SRS N T R SV SRS S S I

~
oo

7.9.1

7.9.2

7.9.3

1
GB/T 15586

2

3

7.9.4
1944 -

100 1x

16°C

Im 1.5m

1.2m

1m

1.5m

12

7.9

GB 8175



N = B W o = W oA W N —_

w

GB/T 15586
J
GB 8175
GB/T 15586

8.1

1945 -



8.2

8.2.1
1 1.2~1.5

8.2.3

1.5 1.2~1.3

8.2.4
1.2~1.3

8.2.5

8.2.6

0.6 8.2.6
S = Apuin/Ap 8.2.6

Ap min~____ Pa
Ap— Pa



8.2.7

8.2.8

8.2.9

8.3.

S N I SR

8.3.

8.3.3

8.4.

N oy AW =

8.4.
8.4.3

8.4.4

8.4.5

8.4.6

8.3

8.4

1947 -

5%



8.4.7

8.4.8

8.4.9

8.4.10

8.4.11

8.5.1

8.5.

W oo 9 bW =N g W~

8.5.

8.5.
8.5.

[ BN

8.5.6

1948 -

8.5



5.7

.6.1

.6.2

.6.3

.6.4

.6.5

.6.6

.6.7

.6.8

.6.9

1.1

1.2

1.3

8.6

9.1

MIS

1949 -



9.1.4

9.1.5 9.1.5
9.1.5 m/s
dB A

25~35 3~4 <2

35~50 4~7 2~3

50 ~ 65 6~9 3-5

65 ~ 85 8~ 12 5~8

8~ 10m/s
9.1.6
9.1.7
9.2
9.2.1
9.2.2
Sm/s 8m/s
9.2.3
9.2.4
9.2.5
9.2.6
9.3
9.3.1
9.3.2 1500r/min
1500r/min

1950 -



9.3.4

9.3.6

9.3.7

1/3~1/2

2.5

2.5

1951 -



2002 60

2001 87
GB 50243—2002 2002 4 1 4.2.3 4.2.4
5.2.45.2.76.2.16.2.26.2.37.2.27.2.77.2.8 82.68.2.711.2.1 11.2.4
GBJ304—88
GB 50243—97
L]
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